=

_l

L
_l
L

=

=
S
=
ST

e

s.com
| L ioeeees

I=] . g
"gﬁ,i?é{fﬂi‘m Visit us at: www.lockers.com e

Basket Lockers — 77709

Installation Instructions

Thank you for selecting Salsbury’s Basket Lockers. We are confident that the quality and construction of the lockers will prove to be a good
investment. These instructions are intended to assist you in the assembly and placement of your basket lockers. Individual job conditions will dictate
the type of fasteners and whether the lockers must be anchored to the wall, the floor, or both.

ASSEMBLED FIGURE :

Shows the Assembled Basket Locker and basic dimensions for
placement of the lockers.

< . Shelf
C Uprf:&gomer p Dividers | Parts List is as follows:
4pcs Bpcs Yy

. TOP Shelf 1 Piece

. Remaining Shelves, 3 Pieces

. Upright Corner Angle, 4 Pieces

. Shelf Dividers, 6 Pieces

. Padlock Clips, 9 Pieces [One per opening]

. Back Brace Cross Members, 2 Pieces

. Splicing Connectors, 2 Pieces

. Storage Baskets, 9 Pieces [One per opening]
Post & Brace Hardware Phillips Head, M5X16 Bolt & Nut,
17+2 Pieces

E Padlock Clip &

Opes F Back Brace

2pcs

TIOMMOO W

A

% @ Connecter J. Padlock Clip & Shelf Hardware Blind Head, M5X10 Bolt &
540, ® e g Nut, 30+2 Pieces
Q? @ Storage
J M5X10 Bolt and Nut H Basket
| M5X16 Bolt and Nut 30+2pcs 9pcs
17+2pcs
SALSBURY INDUSTRIES
1010 East 62" Street, Los Angeles, CA 90001-1598
Phone: 1-800-562-5377 Int'l Phone: 323-846-6700
Fax: 1-800-562-5399 Int'l Fax: 323-846-6800
www.lockers.com engineering@lockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2006 Salsbury Industries. All rights reserved.


http://www.lockers.com
http://www.lockers.com
http://www.lockers.com

Basket Lockers — 77709

Installation Instructions

OPERATION NO. 1 OPERATION NO. 3

Install shelf dividers (D) and lock tabs as
shown, using blind fasteners (J) for security.

Eighteen M5X10 Bolts
and Nuts (J).

Sl

! Assemble the TOP (A) and three remaining shelves (B) to
/ the upright corner angles. The TOP shelf has one pin
and each subsequent shelf has two pins that slide into

the upright comer angles. Flange must always

be to the right.

Twelve M5X10 Bolts
and Nuts (J).

OPERATION NO. 4

Install Back Brace Cross Members (F) as shown,
using Phillips Head Bolts and Nuts (I) to tighten.

/

OF: R al y'i

Nl

\

Five M5X16 Bolts
and Nuts (I).

Secure the TOP to the upright corner angles (C)
with the Bolts & Nuts (1) provided, as shown above.

J

SALSBURY INDUSTRIES
1010 East 62" Street, Los Angeles, CA 90001-1598
Phone: 1-800-562-5377 Int'l Phone: 323-846-6700
Fax: 1-800-562-5399 Int'l Fax: 323-846-6800
www.lockers.com engineering@lockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2006 Salsbury Industries. All rights reserved.




(@p]
(@)
N
N
N
|
(7))
S
Q
4
(&
o
]
d
)
=
7))
©
m

)
c
@)

“
o
S
S

wid
"

£
c
o

ﬁ

KLy
©

whd
n

=

OPERATION NO. 5

coocne *lococes |
cocoes ;.oaooa
leocces| |l

OPERATION NO. 6

")
3 x

o0

> @®

L,

[0

_\rM_/_ 0+
/@ ® O
x ax .
o T
[+a o -
gy Voo
== 5 ob
o n =0
=% P C
£= Q05
+ 0
22 00
w m |
O— =
wle &3

|
- (o] Y4

c
Olcwmo
=|— O 4

_o . el » On i1

# deo00e ””ﬂ”ﬂm4 LI T T

A ITY) ALY T Sonne

( *00se |"Roccces "leccces
slleecoss lsllcoccee [sfloccoee
ooose | llococes | lococcee
oooee eo0oee

# -. L}
_ XTI LI T
_ I TTITY escsne
"§erecss ["Rescoes [*Roevenes
slicccces [slloocces [sflovcces
©000ee escoee
occoee cones
L

ssene EITTY)
LT T ALY Y TY
‘Beosese LIITYY
sllccocee slfleccoee
Cccone Gocee
9o0cee bcooee

b -

XL TYY) toone
WL TTYRR (T
“seee |"Rovceny
eslloccase fellocooes

@o00ee

0000ee

sesoe
se000e
*Boeoees
sfieccons
cooee

LTI
(LTI T
L ITTTY
Socee rlicoocee
Sooee
(1T YT

Int'l Phone: 323-846-6700
Int'l Fax: 323-846-6800
engineering@lockers.com

SALSBURY INDUSTRIES

1010 East 62" Street, Los Angeles, CA 90001-1598

Phone: 1-800-562-5377

Fax: 1-800-562-5399

www.lockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.

Copyright © 2006 Salsbury Industries. All rights reserved.



	Button3: 
	Button2: 
	Button4: 


